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- P ERT TR
(=) é{?/ﬁ%* <kg/cm )
4 & 1 £,=2810 (kg/cm®) f=1410 (kg/em®)
Mt t(a) B R f,=210 (kg/em®) f,=0.45f.=94.5 (kg/cm®)
(b) #ikkss B £,=029Vf. =42 (kg/em®) ()
£,=0.53Vf. =7.68 (kg/em®) (4% ~ &%)
EHFFRA SR FFRES 21335

(=) £ (T/m’)

RF : D.L. I %rs# 0.05
1 cm kK ik 7) jfi 0.01*2 0.02
I AP REEpR 5*0.0035 0.0175
1/100 % -k & & 0.025*2.4 0.060
12 cm RC & 0.12*%2.4 0.288
1.5 Cm’}iiﬁi’ﬁﬂlﬁ%@% 0.015%2 _0.03
>.=0.466=0.47
L.L. 0.15
2,IF DL E#3 0.056
12cm RC % (15 cm for 1F) 0.288 (0.36)
1.5 cm K& ) ];}» 0.030

>=0.374 (0.446)
=0.38 (0.45)

LL (diz) 0.25




EE 4 (T

RF 2 (1) (az) BF (§% %)

DL |LL |TL D.L L.L T.L D.L L.L T.L

R E 047 | 0.15 | 0.62 | 038 (0.45) | 025 | 0.63 (0.70) 0.38 0.50 0.68
0.51

BOEIEEF | 047 | 004 | 051 | 038 (045) | 006 | 0.44 (0.51) 038 |0.13

ZpE (2del2em=B 5 T4l Rl £ 2% 1em)

7

30*%40 : W=2.4 (0.3+0.01*2) (0.4-0.12) =0.215 (T/m)
30%45 : W=2.4 (0.32) (0.45-0.12) =0.253 (T/m)
30*50 : W=2.4 (0.32) (0.50-0.12) =0.292 (T/m)
40*80 : W=2.4 (0.42) (0.80-0.12) =0.685 (T/m)
p g
30%40 : W=24 (0.32) (042) =0.323 (T/m)
#TE% 10cmRCH : W=24 (0.1) (3.5) =0.840 (T/m)
o tIBFAB 80cm (hHE) W=0.46%0.8 =0.368 (T/m)

B 10cmRCHE® 90 cm W=24 (0.1) (0.9) =0.216 (T/m)

EPREEFHE
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E
i

L=

(1)b=1/4 22 8i (L)
(2) b=3% %A RIAE B iEEfrz - 2 4B
(3) b=16t+B

b

F;L

PR FR S O

Ci=b/B  C,=t/D

O=1+ (C-1) *Co+ [3 (1-Cy) * Co* (C-1)) +
(1+C, (C-1))

I=0* (BD’/12) K (= R) =1/L

32L75% 2 fp P A

b
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(1)b=1/12%z21,rE (L) +B
(2)b=1/2%2 2FiE+B
(3) b=6t+B

b

F_L

1 L_:_Jﬂzic’ ,B’»ﬁ,‘J:‘Hz

C;=b/B C,=t/D

O=1+4 (C-1) *C+ (3 (1-Cy) * Co* (C1-1)]) = [1+C, (Ci-1))
I=0* (BD*/12) K (fptm R ) =1/L

33 1% AR ENEE L PHD R

I=0* (BD*/12) K (4p3¢® R ) =I/L

Li%z2BRaE23A

34 FlA 2 S R

[=BD?/64 K (#a4=r) =I/L
Lifrz 3 i
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Mzl b, W,
Deel I, o,
Dieam B, | By By i,
BT LSa
WD +Mp, |-WD, + BID,|-ME,
R #MT, [-MT, xigo, T g, *UT4-NT,
. L]
Tr— - - x ¢ le,
oo, AR
lstribatian oIS, | DS, oM, A pis, (DS,
 Mman M, | ™, ER L ST M, |,
Dasl o, B,
Mcal i, o,
WEHESEMARD, «D, + D, D, + D+ D, + D, s D, -ereee

@ ML » MY, B MM Ol TLIRRHSE ) «

®C, = ~ (+MD, ~MT, ) ::'%II, : ﬂ.-—.-—:—hﬂl-hHT..]!—[é'—
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@D1S, = —{MT, -MT,+C, +C, ) xD,
D15, = =(MT, =MT, +C, + 0, ) =,
DIS, = —(MT, —MT, +C,+0, 3 xD,
D15, =—{MT, =MT,+C,+0C, 1 x0
M, =—(MT, =MT,+C.+Cy 3 2D,
M.=—({MT,—MT,+GC, +C, ) =),
Mem = MT, —MT, +0,+C, ) xD,
M,=—{MT,—MT, + 0,4+ C, § xI}

@M, =+MT,+ G, + D15, by=—MT,+C, +D15,
b, =MT, + C, + DI5, M,=—MT,+C,+DI5,
MM, = MM CM, 4+ OM,;

okt S i o R 0E

i W ot AR S 0E  IFR G Rl W R AME - SR T aRE

@A Mmile DL=]1.4D:T-L=1-4D+1-TL
el By o,
Pl m o, | @ o, | o,
. L AR
MTL, #MT, |-NT, c'\ +MT, |-MT,
%
u'DL oMD, [ <MBy g, +hin AADs =ul0, | —MD,
e
Carrp-oret -l 3 e om, T Bl Ss
g Cren) b
=T
nmruunu-J pIS, |8, LHl, OIS, |08,
Mmin MMm in
Deal i, L8

DR ERD, D, D, o D s
EEEM s MY B+MM i DLAT R %) -

B =—(+MT,—MI},

*iDy+  Gu=—(-MT. +MD,) x 3D

@OM, =-Cox—52 OM,= G xLtEe
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() HadhdEE

S0 frhE - B s B E 2 3T

PE A2 phE pE o B E o R AT S00kg/m o AL RO BT frerd R
Wb A5 2 G fFALE 14m?pF o> S E R T N

R=0.85*#*¥ & f# 9% <23 (1+D.L/L.L.) %=<60%
73 F 4218 500kg/m ¥ o E L E B 0L 2006 ¢



& £ 470 5 R=0.85 £ £ 5 4%

fEaf | LLatws | #7% 2 LL LL. LL. LL. LL. LL.
m’ % 9% 60kg/m> | 150kg/m* | 200kg/m* | 250kg/m® | 300kg/m’
#1820 LL kg/m®

<14 0 100 60 150 200 250 300
15 12.75 87.25 52 131 175 218 262
16 13.60 86.40 52 130 173 216 259
17 14.45 85.55 51 128 171 214 257
18 15.30 84.70 51 127 169 212 254
19 16.15 83.85 50 126 168 210 252
20 17.00 83.00 50 125 166 208 249
21 17.85 82.15 49 123 164 205 246
22 18.70 81.30 49 122 163 203 244
23 19.55 80.45 48 121 161 201 241
24 20.40 79.60 48 120 159 199 239
25 21.25 78.75 47 118 158 197 236
26 22.10 77.90 47 117 156 195 234
27 22.95 77.05 46 116 154 193 231
28 23.80 76.20 46 114 152 191 229
29 24.65 75.35 45 113 151 188 226
30 25.50 74.50 45 112 149 186 224
31 36.35 73.65 44 111 147 184 221
32 27.20 72.80 44 109 146 182 218
33 28.05 71.95 43 108 144 180 216
34 28.90 71.10 43 107 142 178 213




FREESITRIFEITREZETE

Rmax=23 (1+D.L/L.L.) % =60%

L.L.=60kg/m’ L.L=150kg/m* | L.L.=200kg/m> | L.L.=250kg/m’ L.L.=300kg/m’
DL H | 4 | & R #o | & #o | &
Kg/c £ £ * * * # £ * £ *
m RM Z_ Z_ RM 2 2 RM 2 2 RMA Z_ 2 RMX Z_ 2
AX LL | L.L. Aax | L.L | L.L. ax | L.L | L.LL. X L.L. L.L. L.L. L.L.
% Kg/m % Kg/m % Kg/m 9% Kg/m 9% Kg/m
2 2 2 2 2

480 60 40 | 24 60 | 40 | 60 60 | 40 | 80 60 40 100 | 59.80 | 40.20 121

470 60 40 | 24 60 | 40 | 60 60 | 40 | 80 60 40 100 | 59.03 | 40.97 123

460 60 40 | 24 60 | 40 | 60 60 | 40 | 80 60 40 100 | 58.27 | 41.73 125

450 60 40 | 24 60 | 40 | 60 60 | 40 | 80 60 40 100 | 57.50 | 42.50 128

440 60 40 | 24 60 | 40 | 60 60 | 40 | 80 60 40 100 | 56.73 | 43.27 130

430 60 40 | 24 60 | 40 | 60 60 | 40 | 80 60 40 100 | 55.97 | 44.03 132

420 60 40 | 24 60 | 40 | 60 60 | 40 | 80 60 40 100 | 55.20 | 44.80 134

410 60 40 | 24 60 | 40 | 60 60 | 40 | 80 60 40 100 | 54.43 | 45.57 137

400 60 40 | 24 60 | 40 | 60 60 | 40 | 80 59.80 | 40.20 101 | 53.67 | 46.33 139

390 60 40 | 24 60 | 40 | 60 60 | 40 | 80 58.88 | 41.12 103 | 52.9 47.10 140

380 60 40 | 24 60 | 40 | 60 60 | 40 | 80 57.96 | 42.04 105 | 52.13 | 47.87 144

370 60 40 | 24 60 | 40 | 60 60 | 40 | 80 57.04 | 42.96 107 | 51.37 | 48.63 146

360 60 40 | 24 60 | 40 | 60 60 | 40 | 80 57.12 | 43.88 110 | 50.60 | 49.40 148

350 60 40 | 24 60 | 40 | 60 60 | 40 | 80 55.20 | 44.80 112 | 49.83 | 50.17 151
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53 fidhE g 50
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L R ke om

- 8 R fi=210 | [)=245 | f:=280 | £.=350
A, 0-85 0.85 | 0.85| 0-80
BT
o AN K v.|0.53»T.| 7.68 | 8.30 | 8.87 | 9.92
W s v.|0-583,/T) | B.45 9.12 | 9.76 | 10-m
R el e ) v |2-65 1| 38.40 | 41.48 | 44.34 | 49.58
( HEA BRI Smax=")

W Smax= SRR RAMM| v, |1-50,/17| 23.04 | 24.89 | 26.61 | 28.75

BB C A ) ¢

L L v, |1-06,7T) | 15-36 16-59 | 17.74 | 19.83
FE 0 o0 6 R M v.|1.58 1] | 23.04 | 24.88 | 26.61 | 29.75
T oty 0 e Ay va|1-85540 | 26.88 | 29.04 | 31.04 | 34-70
FHREEH * D.B61; 178:5 208.25 |238.00 | 297.50

R ARG ARG o PR R P2 KRS TR AY/A R e A
A28 AR R G A Ay s RS
% 4R R 20 BEo v RS 15000, fc kg/em ? e

6.2 4 5%

RNy E8 & AR LR T EER T E RV L R T A
B B 74L 2 CNS-560-A21 & CNS-3300-A102 -

D% 55 E AR AR AT M AUE B S ¢ R F4E 2 CNS-1468-G35

3.4% 55 2 % Rl 4 4o i 4200 kg/om PP 0 s 035962 4 LB R4 o

438 1 -8 E,=2.04*10kg/cm *

63 Hj

L2 Apen] (AF63# 20 I5pPrcdnafy s)

2. A.C.I.code 318-71
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LE#PE

g?iaa%#iwﬁw¢‘

£E2 B

B

L ER ol

R E o WRZETE S THBREB T ERE
(1) ##HEE

PAFHE LB P LR BREP 2AP Y AN LECHALE
Je? 3T A0 2 A HPERRFTEEE -
i & £ # kg/m’ P £ ¥ kg/m’
G 8RS 2400 ST 1600
KRR 2 2300 b fodkd 1800
F kR 1450 it v 1700
CRESLN . 1000 & iR 2000
Fhz &4 1750 it B F 1700
KRR B 2000 b o RRE T 2100
A - | 1900 BE BT 2300
EF AT 500 T~k wi» 650
B E A1 650 T ini 1400
A A 800 e 900
45 2700 i F 2000
Eiid 8900 = @ % 2500
T A~ K4 8600 x 27 2700
4 4 7200 L 11400
A 7650 & 8900
& 7850 ®n B 2500
(2) Ba £

Ed EERAEFRI I AFPNT RN A2 B BRFFEELE
Bo L4 ¢ # kg/m’
TUE (TG BEadE AR ) 60
kiDL (R EF BRI AR) 45
FANTEL (FHEFCEnFE S AAER) 25
oL (FFHEF S FER) 120
FAAR (6 EGF ~ @ L KAap) 27
TR (3¢ éfé_ﬁe’lvf“}&;t,ﬁﬂ) 15
AR TR (FFEFKF ~Em o~ S M #2858 )18
v A UK (& éﬁz\ RGP LM i #28 5 ) | 12




BABA IR (7 EES S Ba s LK) 75
ERRTPK 3.5
kM (M) 26
I %rrg 50
A UK )5
6 mm 3 16
(3) 2k Ed
TE R £ ¥ kg/m’
HERE ~BFHF 2 AF 15
AL s BT (F4EREH B TR 20
T AR iE 40
BSE R 9
(4) #Fa g
FEGARHREE TS A RERRRTPE X @ T L]
711551~%%Fﬁ7@#%?€$:€_§°
P # ¥ kg/m’
74 KRR Fo 20
(= 255 }gzn+‘,m;+ 24
w3 ST PR HRT 30
o5 20
T ¥~ PVC 25
HH T 15
=4 Ay (8 FEIF) 15
R (o 2% #H) 35

(5) HhEE g

BEL R RBEEA LR e BRERG > ANRT PR 2 E 0T 4
70 E LR BRAFELE
R LA tkg | AL ¢ #kg/m’
/m?
1B = /& 440 I KR ) Hk ] 20
20cm | 250 - A3 S % o 20
MRS F o 15cm | 190 = PRAGHLE T 20
10cm | 130 A T F AP 20
20cm | 165 - ph+ 32 7 5 30




R e 2] 15cm | 135 | pEBE R 25
10cm | 100 b B 25

Folm (- Ak ) 192 A W E A 50

8RR (- A5 440 H R

E b 84 o

2%
U)iﬁféﬁ’zﬁﬂﬁfzﬁ’%;%ﬂﬁ’ FREeREAL TN AR
?ﬁ~$%~ﬁ%%~%%*ﬁi’ mﬁ @ #%$X%£aﬁ e

&)éﬁ%ﬁﬁiﬁﬁé’ﬂ&%%aﬁﬁ%k’zﬂd%f
B RA R TR AR R P R R

%-ﬂ o
L Eal ! ?‘Zﬁfkg/mz
1 fiz\emf\&;;’\:}%é 200
2 | HE 250
3 | HSE FRECRROFIRETZE EPH;D:E;,-{:FE o 300
Bk 2 g F DI BN ERE FEFE -
4 |EfaspEd s s BRTRae s S TR D B 200

AL B YRR KGR TESE

5 FREHF -RAFH AR RAE CERHEZEF 54k 500
BRI~ FS DR R S TR R LR

FR -~ R 600

AP EREg IR E AR ey > AR S ok B
§F B2 0% A A~ HBH TS 400 kg/m’

8 | BB 2R EAREPES TS 2 b S0kg BB RR T Lk
X 2@ 300 kg/m?

165 f# 20m2 11 100
9 | iE* g2 T ETE | £ 5 ff 20~60m’ 80
£ 6 4 60m’ 11 ¢ 60
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3P E AR

;B
Wp
BRFZET WL
WrL=Wp+Wr
1.4 Wp
wEFEr 17w
Wy=1.4 Wp+1.7
WL

TH R BT W5 - &2 25%

2HEEFEE Y 2 WL R - &2 100%

ST 2 AHRF T 2 ERERR TS EPE

(1) AR E4cA42iE 500 kg/m? > 77 2L RO * 2 et Aot f F 5 B
14 m?pF o A E R T S

R=0.85** £ o #%=23 (1+D.L/L.L.) % =60%
R %P E4HF A 0

(2) & F A28 500500 kg/m® P& - W42 A2 ERE T RS 20%
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2.8 T 32 BT G R
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3HEFEza® (-)

1-25



Afpk e B (Z)
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X% 4% (A) (C)

1-27



6.X + 1% (A) (C)

1-28



7.X % % (B)

1-29



8. X % (B)

1-30



9.Y 42 (1) (4)

1-31



10.Y 482 (1) (4)

1-32



Y %% (2) (3)
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12.Y % 4£% (2) (3)
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(part-2)



— concrete

— concrete or stedl

(flat dab)

2-2



one-way slab

wall {or beam)

( ) 1/d=24
( ) 1/d=28
l/d=10

2-3

|/d



steel column

s
L J—
[ pp—
=

o
mu
PR

2(

(ribbed slab)

2-4



(band bam)

2-5






( ) 1/d=28

1/d=39

11 21 I/d

( waffle )

( ) l/d=12
l/d=15

|/d=6

2-7



(flat plate)

(flat sab)

2-8



1/d=33( )

up to 6 metres

up to 9 metres

2-9



3.6m

48m

54m

7.2m

up to 3 metres
up to 7.5 metres
up to 8 metres
up to 10 metres
up to 6 metres
up to 8 metres
up to 12 metres
up to 15 metres

2 (60

2-10



(part-3)



o
M
1 2
neutral axis
8:(R+y)d9-Rd9: R d6 +y dO - Rd® y
Rd6 Rd6 R
doe 1
ds=Rd® — — = =
ds R
€= new length - original length _ ds'-ds_ (R +y)d@-Rd@
original length T ds Rd6
- 3 - 4
de 1
ds=Rd6 — — = = 0 X
ds R o dx
/ > dy ds‘ dy
0 y d
de dx X \

dy ds . dy ds

d _ dy 29 0 _ dY dx
ds E(taﬂe_&> — B 5 T G s

5 - 6

dx \




2, de _ dy dx
secGE T dx2 ds

dx

- dx
dy cos 0 %

a 1 d?y 1 ~d?y
o dy 1 dy 1 9 - R dx 2 2 T ax
___ZX_3——2X 5 3 (dy) 2
ds dx* g9 dx (1+tan’8)2 [1+&]
EJ 2 El dy _ Eol
M= = dA = — = El =2 = =
RAy R dXz Ey
1. dy_ e _ 0O
=V
o =My
I
b
d
M=EI—?X
dx? .
)
AN
look at isolated member ab

12




Look at isolated beam restrained at both ends (+ ve
convention including right hand screw rule)

Y% Mpa Y
b~ b .
— 0 Mpa
a
a v ).
a a Map bV “x
;P" R
2
Apply rotation (at oneend only) 6, to beam at x=0
13 1
- HY dx
Freebody diagram ,_X,‘ Look at boundary conditions — @x=0 —— =0
Moment equilibrium y dy a
h L ‘
M = El d_?l = ‘
dx?
0,
a v
Integratew.r.t. x bl  x

d
B = M X+ =2
dx a 2

16

Alsoatsamepoint —» @x=0 y=0
A Y L ‘
0,
a v
bV x
M x> Rx°
Ely =- + 6 +Cx+C,

2 equations
M. x> Rx3
Ely= - —2 +é + EI6,x
d R.x?2
Bl = - M x+ 2 +EI0
dX ab 2 a

— Still need to solvefor M, and R,

— Need tolook at other boundaries

18




Look at other end pointb —» @x=L y=0 Alatpointh —» @x= L dx -0
r 3 - d -
y L y ] Yy
. , e |
2 b—F x; . a V »
2 3 L
El MaX L B | 1 d x*
= - 1
y 5 5 T El8.X E|E)}('—:-Mabx+— +EIB,
2 3 R.L?
_ o Mal Ry +EI0L 0 =-M,L+—= +EIf,
2
- 2 3
2 more equations 0= + Ml ) RyL . EI6,L (1b)
—» can now solvefor M, and R, N 2 4 2
R, L2 MyLl? R,L
0= - M,L +71 +El@, (1) 0=- ;’ +—— +ElOL (2
3
M L2 RL® 0= o - R,L +EI9aL
0 =- T +6—+ ElO,L (2 12 2
o - BEI,
(1)xLx-%andaddto(2) — =Tz
_ _ Look at moment equilibrium at point B
Back substituteinto (2)
A Y L
\
0 MabL2+6EI9a L® B0l @ | M
= - X— +
2 L2 6 a 0, - ﬂ ba
Mab(P bF 7 x
. _4ElB, R, TRz
L

23

_4E18, , BEIB,L
L L2

Mba= 'Mab+ Rll_ =

24




29

looking at an isolated member ab

4E10, CElS,
M., = _4E10, +6Elea _ 2E10, ) 1 L
L L L
v
Also from equilibrium f’/
r 3
6EI© 6EI0
R, =-Ry=-—=2" - 2E16,
L L
L
Now apply rotation at other end 6, to beam at x=L
A Y L ‘
| -6E18, - 4E18,
M L2 l L
a O
C /@ X %
“R Mpa -2E16, 3
: 1R L 6E18,
L2
-2
b
“
—>
—> b~




Let’ snow apply sway instead of rotation at point b

I

Moment equilibrium

Ry M=E|d—?¥2=-Mab+Rlx
Mab L Yy dX
C a R Free body diagram
| ) %/Iba Map R,
a b
' = CR M
: ' &,
| R, ML
d2 Look at boundary conditions — @ X = 0 % =0
M:EIEXZ=-Mab+R1x ) dy
X R
B - x+ B
Integratew.r.t. x dx 2
2 _
B = v xR g — =0
dx 2 @x=0 y=§,
M X2 R X3 M X2 R X3
Ely=- o +Cx+C, El &, = - 2 +—61 + Cx +C,
— C,= EI §,
2 equations Look at other end pointh —» @x=L y=0
vy
2
T A VA, @
o ? Ty
M x> Rx> ‘ F—
e
El'y > 6 T El 8, L 4
— Still need to solvefor M, and R, MabL2 R1L3
, Ely=0=- + + El 3,
— Need to look at other boundaries 2 6

35
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Also‘at pointh —» @X= L W =0 2 more equations
ay — can now solvefor M, and R,
‘ R,L?
SN 0 = - ML + 1= (1)
' r— 2
: M L> R,L®
0 =- 5 +6 + EId, 2
2
El gx =0 =- MabL +R_1L 1
X 2 (1)xLx-§and add to (2)
T Myl® RL®
0= +—=2 .1 (1b) Back substitute into (1b)
+ 2 3
M. L2 R.L3 ML +12EI6a LU
0=-—24"C g5 (@ 0="= 2 (2 (16)
0= + EIS, 6E15,
— ab = >
12E13, L
— 1 = L3
Look at moment equilibrium at point B
M 6E1d,
ab Ay e Mba = 2
( Na L
\b i Mba S
4 b ‘\ Also from equilibrium
R 7
! f " 12E18,
R2 =- Rl = - 3
| R, L
My = M+ RL = 518 12E18L
L L
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Now apply displacement at other end &, to beam at x=L

6E13, 1 N 1y Mpa
L J % >
R M D
r & o
I >
12E3I 3, 6E13, AR, ] "R, ”
L |2 \
Now apply both displacements and rotations at
both ends®,,6,,6,, &,
12EI| 6a - 6Eld What do we have? StiffnessMatrix for 2D
a beam element.

-6El, f-12E| 5,

45

M,| [4EI/L 6EIL* 2EIL -6EI/L |8,
R, |_| 61/ 12E1/° 6EI/L? -12E1/L°| B,

M| | 2EI/L 6EI/® 4EI/L -6EI/L?| 6,
R,| [6EI/L’-12E1/L%-6EI/L" 12E1/L7) &,

46

Stiffness Matrix for 2D beam element with terms
rearranged so that we start with reactions and then
momentsin force vector and sway and then rotations
in displacements vector.

R,| [12E11C° 6EI1® -12E1/° 6E1/% | B,
M,| | 6EI/L® 4EI/L -6EI/L® 2EI/L || 6,

R,| [-12E1/L° -6E1/L°12E1/° -6EI/L7|| B,
M,| | 6EI/L* 2EI/L -6EI/L® 4EI/L |8,

47

Another way of displaying matrix is asfollows:

R, 12. 6L -12 6L
M,| EI| 6L 4’ 6L 2

5,
6,
R [2|-12 -6L “12_ -6L || 8,
My, 6L 2.7 -6L -4L% | g,

Matrix symmetric about pivot line pivot line

Pivot line elements + veand > 0






